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Math 143

Quiz 10 —Section 74 & 7.5
NO CALCULATORS ALLOWED & show your work for full credit.

1. Use a half-angle identity to find the exact value of cos 195° (1 pt)
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2. Use identifies to find the value of sin 20, given cos 0 =—— and sin 0 <0 (1 pt)
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3. Give the degree measure of 0 if it exists. (1 pt/problem)

a) 0 = cos™
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b) 8 = arcsin 2
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4, Choose two of the following and verify the identities. (3 pts/problem) Given:

A 1—cos 4 A sinA A 1-cos 4 2tan A
tan —=+ [———  tan —= ——————, tan —= ————, tan 24 = —————
2 1+ cos A 2 1+cosA 2 sin A I —tan® 4

(3 pts/problem)
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